Rk 295 FEf R 8 Ak B g

iRy
&
<
b
%4
Bt

(Hfz: M)

e SERTHE | mEETEE | s
1 BN 13,525 13,500 25
;3 2 FHEIUA 3,000 3,000 0
?f_; 3 A RIS 50,673 64,952 A 5,279
g |4 ZREENA 69,239 69,171 68
\z 5 FHEILA 8,690 11,303 A 2,613
;5 6 SEAEESIA 0 0 0
I 7 AHESIA 0 0 0
X8 At I 249,816 265,220 A 15,404
9 PEERE AL —E AR A 18,310 18,939 A 629
10 Z DDA 1,559 1,232 327
11 ZRALEE Y 4N 392 614 A 222
FREEBIAG (1) 424,204 447,931 A 23,727
EINWNCE ST 318,142 338,766 A 20,624
a 2 FEEHIM 63,813 65,291 A 1,478
3 FHEIM 23,020 26,115 A 3,095
VN SR T S 3,540 3,060 480
5 BAHE S 0 0 0
6 BhEka 12,307 13,441 A 1,134
7 AHeT 0 0 0
8 ZDOMDSIH 2,370 0 2,370
FREEE S HE (2) 423,192 446,673 A 23,481
HEIRBEE N SERH (3) = (1) — (2) 1,012 1,258 A 246
BB 1 s s e 0 0 0
BN 2 i By A 0 0 0
g TRk M HIA G (4) 0 0 0
SR 1 s Emssa 0 4,700 A 4,700
b & fa R R % 3 E (5) 0 4,700 A 4,700
i 55 R {25 4 I S 72 4E(6)=(4)—(5) 0 A 4,700 4,700
| 1 FESZTESBURILA 0 11,200 A 11,200
A 2 zofhoiEB I LB 0 0 0
Z DAMDIEBEAGT (7) 0 11,200 A 11,200
S| 1 RS TEARE N 5,000 10,000 A 5,000
) 2 zofmoEsic ka3 0 6,500 A 6,500
Z DM DOTER) S HFH(8) 5,000 16,500 A 11,500
ZDMDTEEZ L DU ZEHE(9)=(7)-(8) A 5,000 A 5,300 300
A% (10) 0 0 0
U N SRR A F 1L D=(3)+(6)+(9)-(10) A 3,988 A 8,742 4,754
RTHR A E 4% 5 (12) 25,242 32,667 A 7,425
MR A E a5k (11)+(12) 21,254 23,925 A 2,671




